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Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Relying on the testimony of a nine-year-old girl. a court 1n a city (S) of state awarded life imprisonment to her
tather. who 1s a doctor, for murdering his second wife with help of his two aides in 2021. The minor girl was
witness to her mother's killing.

A person (X) had married Y (lady) in 2012. The couple had two daughters. On October 26, 2021, Y was found
dead in their house and the doctor was missing. Y's mother was later told by the minor girl that her mother
was killed by her father. The autopsy report corroborated her statement as i1t was established that Y was
"strangled to death". Additional district government counsel (ADGC). Z (person) told TOL, "Y and X had a
love marriage after the latter introduced himself as 'Dr. A'. The wedding was solemnised in another city as per
Hindu rituals. Y came to know about her Husband's identity when they moved to a small town in S. 'A’ was
actually X and he was already married. The accused then started putting pressure on her to embrace his faith.
to which she refused. Later she was found murdered".

The ADGC added. "An FIR was registered on the complaint of Y's mother on October 28.2021." He was
arrested three months later. During investigation. police found that he killed Y with the help of his brother-in-
law B and aide C (hybrid name). Z said, "The nine year old daughter. who studies in class III told the court
that her mother was watching TV when her father and two men killed her. Seeing the heinous nature of the
crime. we argued for the death penalty.”

Sub questions

Question Number : 1 Question Id : 68634016917 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find one word substitute for the following phrase from the options given below:-

A Formal statement. especially one given in a court of law

1. Tetany

-2

. Tetchy
3. Tetanic

4. Testimony

Options :

68634066801. 1
68634066802. 2
68634066803. 3
68634066804. 4

Question Number : 2 Question Id : 68634016918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 1s the meaning of the word "Strangle' used m this paragraph?

1. Cutting the neck of someone
2. Squeeze or constrict the neck
3. Covering the face. especially as to cause death
4. Causing death due to hunger

Options :

68634066805. 1

68634066806. 2

68634066807. 3
68634066808. 4

Question Number : 3 Question Id : 68634016919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The antonyms of testimony is:

1. Proof

[

. document
3. Charge
4. Acceptance
Options :
68634066809. 1
68634066810. 2

68634066811. 3
68634066812. 4

Question Number : 4 Question Id : 68634016920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
FIR stands for:
1. Female Identity Report
2. False Information Report
3. First Information Report
4. Fight Intimation Report
Options :

68634066813. 1
68634066814. 2



68634066815. 3
68634066816. 4

Question Number : 5 Question Id : 68634016921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The synonym of corroborate is:
1. to kill
2. to catch
3. to mix
4. to compare

Options :

68634066817. 1
68634066818. 2
68634066819. 3
68634066820. 4

Question Id : 68634016916 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Relying on the testimony of a nine-year-old girl. a court 1n a city (S) of state awarded life imprisonment to her
tather. who 1s a doctor, for murdering his second wife with help of his two aides in 2021. The minor girl was
witness to her mother's killing.

A person (X) had married Y (lady) in 2012. The couple had two daughters. On October 26, 2021, Y was found
dead in their house and the doctor was missing. Y's mother was later told by the minor girl that her mother
was killed by her father. The autopsy report corroborated her statement as i1t was established that Y was
"strangled to death". Additional district government counsel (ADGC). Z (person) told TOL, "Y and X had a
love marriage after the latter introduced himself as 'Dr. A'. The wedding was solemnised in another city as per
Hindu rituals. Y came to know about her Husband's identity when they moved to a small town in S. 'A’ was
actually X and he was already married. The accused then started putting pressure on her to embrace his faith.
to which she refused. Later she was found murdered".

The ADGC added. "An FIR was registered on the complaint of Y's mother on October 28.2021." He was
arrested three months later. During investigation. police found that he killed Y with the help of his brother-in-
law B and aide C (hybrid name). Z said, "The nine year old daughter. who studies in class III told the court
that her mother was watching TV when her father and two men killed her. Seeing the heinous nature of the
crime. we argued for the death penalty.”

Sub questions

Question Number : 1 Question Id : 68634016917 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find one word substitute for the following phrase from the options given below:-

A Formal statement. especially one given in a court of law

1. Tetany

2

. Tetchy

3. Tetanic

4. Testimony
Options :
68634066801. 1
68634066802. 2

68634066803. 3
68634066804. 4

Question Number : 2 Question Id : 68634016918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
What 1s the meaning of the word 'Strangle' used in this paragraph?
L. Cutting the neck of someone
2. Squeeze or constrict the neck
3. Covering the face. especially as to cause death
4. Causing death due to hunger
Options :
68634066805. 1
68634066806. 2

68634066807. 3
68634066808. 4

Question Number : 3 Question Id : 68634016919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The antonyms of testimony 1s:

1. Proof

| B

. document

3. Charge

e

. Acceptance

Options :



68634066809. 1
68634066810. 2
68634066811. 3
68634066812. 4

Question Number : 4 Question Id : 68634016920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

FIR stands for:

1. Female Identity Report

2

. False Information Report
3. First Information Report
4. Fight Intimation Report

Options :

68634066813. 1
68634066814. 2
68634066815. 3
686340606816. 4

Question Number : 5 Question Id : 68634016921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The synonym of corroborate is:

1. to kall

[

. to catch
3. to mix
4. to compare

Options :

68634066817. 1
68634066818. 2
68634066819. 3
68634066820. 4

Sub-Section Number : 2
Sub-Section Id : 686340563
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634016922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the sentence below a part 1s italicised. Which of the choices as a replacement will improve the sentence?
I only said it as a fun.

1. of fun

| ]

. with fun
3.atafun

4. in fun

Options :

68634066821. 1
68634066822. 2
68634066823. 3
68634066824. 4

Question Number : 6 Question Id : 68634016922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In the sentence below a part is italicised. Which of the choices as a replacement will improve the sentence?
1 only said 1t as a fun.
L. of fun
2. with fun
3.atafun

4, in fun

Options :

68634066821. 1
68634066822. 2
68634066823. 3
68634066824. 4

Question Number : 7 Question Id : 68634016923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct indirect narration for the following sentence :

The tailor said to him. "Will you have the suit ready by tomorrow evening?"

1. The tailor asked him that he will have the suit ready by the next evening.

b2

. The tailor asked him that he would had the suit ready by the next evening.
3. The tailor asked him if he would have the suit ready by the next evening.
4. The tailor asked him if he will like to have the suit ready by the next evening.

Options :

68634066825. 1
68634066826. 2
68634066827. 3
68634066828. 4

Question Number : 7 Question Id : 68634016923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Identify the correct indirect narration for the following sentence :

The tailor said to him. "Will you have the suit ready by tomorrow evening?"

1. The tailor asked him that he will have the suit ready by the next evening.

2

. The tailor asked him that he would had the suit ready by the next evening.
3. The tailor asked him if he would have the suit ready by the next evening.
4. The tailor asked him if he will like to have the suit ready by the next evening.

Options :

68634066825. 1
68634066826. 2
68634066827. 3
68634066828. 4

Question Number : 8 Question Id : 68634016924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



From among the four options given, choose the one word substitute for the phrase 'one who 1s over anxious
about their health'.

1. Valetudinarian

2. Depressed

3. Romantic

4. Optimist
Options :
68634066829. 1
68634066830. 2

68634066831. 3
68634066832. 4

Question Number : 8 Question Id : 68634016924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

From among the four options given, choose the one word substitute for the phrase 'one who is over anxious
about their health'.

1. Valetudinarian

| ]

. Depressed
3. Romantic
4. Optimist

Options :

68634066829. 1
68634066830. 2
68634066831. 3
68634066832. 4

Question Number : 9 Question Id : 68634016925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give a synonym of the underlined word mn the following sentence.
A little learning is a dangerous thing.

1. inevitable

| ]

. celestial

LS ]

. fatal
4. cognitive

Options :

68634066833. 1
68634066834. 2
68634066835. 3
68634066836. 4

Question Number : 9 Question Id : 68634016925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Give a synonym of the underlined word in the following sentence.

A little learning 1s a dangerous thing.

1. inevitable

-2

. celestial

[ 5]

. fatal
4. cognitive

Options :

68634066833. 1
68634066834. 2
68634066835. 3
68634066836. 4

Question Number : 10 Question Id : 68634016926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the passive voice for the following sentence.

They cooked the food and sent it to the orphanage.

1. The cooked food was sent to the orphanage by them.

| ]

. The food was cooked and sent to the orphanage by them.
3. The food was sent to the orphanage by them.
4. They went to orphanage and gave the food.

Options :

68634066837. 1
68634066838. 2
68634066839. 3
68634066840. 4

Question Number : 10 Question Id : 68634016926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Identify the passive voice for the following sentence.

They cooked the food and sent it to the orphanage.

1. The cooked food was sent to the orphanage by them.

| )

. The food was cooked and sent to the orphanage by them.
3. The food was sent to the orphanage by them.
4. They went to orphanage and gave the food.

Options :

68634066837. 1
68634066838. 2
68634066839. 3
68634066840. 4

Question Number : 11 Question Id : 68634016927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which two neighboring countries of the world share longest border?

1. Chile and Argentina

| )

. China and Russia
3. India and China

4. Canada and U.S.A.

Options :

68634066841. 1
68634066842. 2
68634066843. 3
68634066844. 4

Question Number : 11 Question Id : 68634016927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which two neighboring countries of the world share longest border?

1. Chile and Argentina

| )

. China and Russia
3. India and China

4, Canada and U.S.A.

Options :

68634066841. 1
68634066842. 2
68634066843. 3
68634066844. 4

Question Number : 12 Question Id : 68634016928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I (Constitutional Provision) |LIST II (Borrowed From)

A |Procedure established by Law I. |reland
B. [Directive Principles of State Policy] II. |Germany
C. |Concurrent List II1. [Tapan

D. [Emergency Provisions IV |Australia

Choose the correct answer from the options given below:

1. A-I. B-IL. C-III, D-IV

-2

A-L B-III, C-IV. D-II
3. A-IV. B-IIL. C-II. D-I
4. A-IT1. B-1, C-IV. D-II

Options :

68634066845. 1
68634066846. 2
68634066847. 3
68634066848. 4

Question Number : 12 Question Id : 68634016928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Constitutional Provision) |LIST II (Borrowed From)

A |Procedure established by Law I. |lreland
B. [Directive Principles of State Policy| II. |Germany
C. |Concurrent List IIT. Tapan

D. [Emergency Provisions IV, |Australia

Choose the correct answer from the options given below:

1. A-I. B-1I. C-III, D-IV

| ]

CA-L B-IIIL C-IV. D-II
3. A-IV, B-IIL. C-II. D-I
4. A-I11, B-1. C-IV. D-II

Options :

68634066845. 1
68634066846. 2
68634066847. 3
68634066848. 4

Question Number : 13 Question Id : 68634016929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Who was awarded the Nobel Prize' for his struggle against the suppression of Children and for the right of all
Children to education.

ey

. Abhijit Banerjee
2. Kailash Satyarthi
3. Dalai Lama

4, Venki Ramakrishan

Options :

68634066849. 1
68634066850. 2
68634066851. 3
68634066852. 4

Question Number : 13 Question Id : 68634016929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who was awarded the Nobel Prize' for his struggle against the suppression of Children and for the right of all
Children to education.

1. Abhijit Banerjee
2. Kailash Satyarthi
3. Dalai Lama

4. Venki Ramalarishan

Options :

68634066849. 1
68634066850. 2
68634066851. 3
68634066852. 4

Question Number : 14 Question Id : 68634016930 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following in chronological order : (India fight for freedom)

A Wavell Plan

B. Plan Balkan

C. Cabinet Mission

D. Call for Direct Action

Choose the correct answer from the options given below:
1.C,A,D,B
22A.D.C.B
3JACDB
4.D.C.B

Options :

68634066853. 1
68634066854. 2
68634066855. 3
68634066856. 4

Question Number : 14 Question Id : 68634016930 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in chronological order : (India fight for freedom)

A Wavell Plan

B. Plan Balkan

C. Cabinet Mission

D. Call for Direct Action

Choose the correct answer from the options given below:
1.C,A,D,B
22A.D.C.B
3JACDB
4.D.C.B

Options :

68634066853. 1
68634066854. 2
68634066855. 3
68634066856. 4

Question Number : 15 Question Id : 68634016931 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Griven below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as Reason (R) :
Assertion (A) : Black soil or Regur soil is also known as selt-ploughing soil.

Reason (R) : Black soil 1s clayey in texture. It has the ability to retain a great amount of water.In summers, it
develops cracks which expose it to water from rains and sunlight. thus making it easy to plough and to be used
for the cultivation process.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

J

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R is not correct

4. A 1s not correct but R 1s correct

Options :

68634066857. 1
68634066858. 2
68634066859. 3
68634066860. 4

Question Number : 15 Question Id : 68634016931 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as Reason (R) :

Assertion (A) : Black soil or Regur soil 1s also known as self-ploughing soil.

Reason (R) : Black soil 1s clayey in texture. It has the ability to retain a great amount of water.In summers, it
develops cracks which expose it to water from rains and sunlight. thus making it easy to plough and to be used
for the cultivation process.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct
4. A is not correct but R 1s correct

Options :

68634066857. 1

68634066858. 2

68634066859. 3
68634066860. 4

Question Number : 16 Question Id : 68634016932 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as Reason (R) :
Assertion (A) : Mahatma Gandhi has said "Truth" 1s "Love" and "Love" 1s "God".

Reason (R) : True statements are universal and need not to remember after we speak of it.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

68634066861. 1
68634066862. 2
68634066863. 3
68634066864. 4

Question Number : 16 Question Id : 68634016932 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as Reason (R) :
Assertion (A) : Mahatma Gandhi has said "Truth" 1s "Love" and "Love" 1s "God".

Reason (R) : True statements are universal and need not to remember after we speak of it.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

68634066861. 1
68634066862. 2
68634066863. 3
68634066864. 4

Question Number : 17 Question Id : 68634016933 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In a certam code "CURTAIN" 1s coded as X F I G Z R M. How 1s MADAM coded in that language?

ILNEZWZN

| B

NEZVZN
JJOEVZO
4 0ZTZ0

Options :

68634066865. 1
68634066866. 2
68634066867 3
68634066868. 4

Question Number : 17 Question Id : 68634016933 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certain code "CURTAIN" 1s coded as X F I G Z R M. How 1s MADAM coded in that language?

IL.NEZWZN

| B

NEVZEN
3.JOZVZO
4 0ZTZ0

Options :

68634066865. 1
68634066866. 2
68634066867. 3
68634066868. 4

Question Number : 18 Question Id : 68634016934 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Reason for farmer's suicides in India are due to:

A. Heavy amount of the unpaid loans.
B. Less rain in the whole country

C. Suppression by the big land holders
D. Psychological disorders

E. Industrialization on the fertile land.

Choose the correct answer from the options given below:

1.A,B.C.E

J

.B.C.E.D
3.A.B.D.E
4. A.C.D.B

Options :

68634066869. 1
68634066870. 2
68634066871. 3
68634066872. 4

Question Number : 18 Question Id : 68634016934 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Reason for farmer's suicides in India are due to:

A. Heavy amount of the unpaid loans.
B. Less rain in the whole country

C. Suppression by the big land holders
D. Psychological disorders

E. Industrialization on the fertile land.

Choose the correct answer from the options given below:

1.A,B.C.E
2.B.C.E.D
3.A.B.D.E
4. A.C.D.B

Options :

68634066869. 1

68634066870. 2

68634066871. 3
68634066872. 4



Question Number : 19 Question Id : 68634016935 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Looking at a photograph of a man, Sheela says that he is the only son of the husband of the mother of my
husband's sister. How 1s man related to Sheela?

1. Father-in-Law

| ]

. Son
3. Brother in Law

4, Husband

Options :

68634066873. 1
68634066874. 2
68634066875. 3
68634066876. 4

Question Number : 19 Question Id : 68634016935 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Looking at a photograph of a man. Sheela says that he is the only son of the husband of the mother of my
husband's sister. How 1s man related to Sheela?

1. Father-in-Law

| ]

. Son
3. Brother in Law

4. Husband

Options :

68634066873. 1
68634066874. 2
68634066875. 3
68634066876. 4

Question Number : 20 Question Id : 68634016936 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the missmg term in the given series

123520, %.30,:57

[
| ]
2]

4. 24

Options :

68634066877. 1
68634066878. 2
68634066879. 3
68634066880. 4

Question Number : 20 Question Id : 68634016936 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the missing term in the given series

12,15,19, 2, 30,37

2
| ]
[=.=]

4.24

Options :

68634066877. 1
68634066878. 2
68634066879. 3
68634066880. 4

Question Number : 21 Question Id : 68634016937 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A bag contains 6 white and 4 black balls. Two balls are drawn at random then what 1s the probability that they
are of the same colour?

,_l
T
tn |

12
=

Options :

68634066881. 1
68634066882. 2
68634066883. 3
68634066884. 4

Question Number : 21 Question Id : 68634016937 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A bag contains 6 white and 4 black balls. Two balls are drawn at random then what 1s the probability that they
are of the same colour?

3
b
15
5 B
=
7
- B
15
7
Options :

68634066881. 1
68634066882. 2
68634066883. 3
68634066884. 4

Question Number : 22 Question Id : 68634016938 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following fractions is the smallest?

1.?
8

| ]

13
16

Options :

68634066885. 1
68634066886. 2
68634066887. 3
68634066888. 4

Question Number : 22 Question Id : 68634016938 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following fractions is the smallest?

1.?
8

| )

Options :

68634066885. 1
68634066886. 2
68634066887. 3
68634066888. 4

Question Number : 23 Question Id : 68634016939 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Three solid cubes of sides 1 cm. 6 em and 8 cm are melted to form a new cube then the surface area of the
cube so formed is

1. 486 em?
2. 468 em?
3. 488 cm?

4. 864 em?

Options :

68634066889. 1
68634066890. 2
68634066891. 3
68634066892. 4

Question Number : 23 Question Id : 68634016939 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Three solid cubes of sides 1 cm. 6 em and 8 cm are melted to form a new cube then the suwrface area of the
cube so formed is

1. 486 cm?
2. 468 cm?
3. 488 cm?

4. 864 cm?

Options :

68634066889. 1
68634066890. 2
68634066891. 3
68634066892. 4

Question Number : 24 Question Id : 68634016940 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(147 <147 + 147 =143 + 143x 143
L 147 2147 x 147 - 143x 1432143

The value of

._.
b |

! o
|

Options :

68634066893. 1
68634066894. 2
68634066895. 3
68634066896. 4

Question Number : 24 Question Id : 68634016940 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(147 %147 + 147 %143 + 143x 143
L 1472147 =« 147 - 143x 1432143

The value of

b | =

! o
|

Options :

68634066893. 1
68634066894. 2
68634066895. 3
68634066896. 4

Question Number : 25 Question Id : 68634016941 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If the equation Jx?+4x+1=0 has equal roots. then the value of 1 is:

1.0

[
[

3.4
4.2

Options :

68634066897. 1
68634066898. 2
68634066899. 3
68634066900. 4

Question Number : 25 Question Id : 68634016941 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the equation Jx*+4x+1=0 has equal roots, then the value of 1 is:

1.0

[ ]
[k}

4.2

Options :

68634066897 1
68634066898. 2
68634066899. 3
68634066900. 4

Part B: Geology Earth Sciences

Section Id : 686340336
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340564
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Number : 26 Question Id : 68634016942 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which one of the following is the most widely used geophysical method for groundwater exploration ?

1. Gravity method
2. magnetic method
3. Radioactive method
4. Electrical Resistivity method

Options :

68634066901. 1

68634066902. 2

68634066903. 3
68634066904. 4

Question Number : 26 Question Id : 68634016942 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafafad ¥ ¥ oA pifos! usfa &1 yoa sawu ¥ waifie samge Suai faar S g |
T Hgfd
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gt ugfa
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Options :

68634066901. 1
68634066902. 2
68634066903. 3
68634066904. 4

Question Number : 27 Question Id : 68634016943 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following is not an example of a recording type of rain gauge ?

1. Tipping bucket rain gauge

| )

. Weighing type rain gauge
3. Float type ramn gauge
4. Symon’s rain gauge
Options :
68634066905. 1
68634066906. 2

68634066907. 3
68634066908. 4

Question Number : 27 Question Id : 68634016943 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634066905. 1
68634066906. 2
68634066907 3
68634066908. 4

Question Number : 28 Question Id : 68634016944 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the Darcy’s equation Q = KiA. hydraulic gradient is represented by:

1.LK

[ ]

LA

4.Q

Options :
68634066909. 1



68634066910. 2
68634066911. 3
68634066912. 4

Question Number : 28 Question Id : 68634016944 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
STt & THiaRu & = & 315 U (Q = kia) H Za=iferd yavrar gifs St &:
1.%

2.7
3. 91
4.9,

Options :

68634066909. 1
68634066910. 2
68634066911. 3
68634066912. 4

Question Number : 29 Question Id : 68634016945 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The rain water falling on the land surface that drains across the land into a stream channel is called :

1. Groundwater flow
2. Baseflow
3. Overland flow
4. Subsurface flow

Options :

68634066913. 1

68634066914. 2

68634066915. 3
68634066916. 4

Question Number : 29 Question Id : 68634016945 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634066913. 1
68634066914. 2
68634066915. 3
68634066916. 4

Question Number : 30 Question Id : 68634016946 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following geological materials in order of increasing capillary rise in them.

A Fine sand
B. silt

C. coarse snad
D. Fine gravel

Choose the correct answer from the options given below :
1.D. C.AB
2.4;B,C,D
3JADCB
4.B.C.A.D

Options :

68634066917. 1
68634066918. 2
68634066919. 3
68634066920. 4

Question Number : 30 Question Id : 68634016946 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFafaRad yifae! el &1 37 Sed HRIHI IUR & HH 4 T |
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B. ¥ee

C. 7 arq

D. Held gl

1.D.C.A. B

2.A,B.C.D

3.A.D.C.B

4.B.C.A.D

Options :

68634066917. 1
68634066918. 2
68634066919. 3
68634066920. 4

Question Number : 31 Question Id : 68634016947 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements :

Statement I : Specific retention of a geological material is that % volume of water. which is drained by
gravity.

Statement IT : Water holding capacity of soil i1s called Field Capacity.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct

[

. Both Statement I and Statement I are incorrect
3. Statement I is correct but Statement IT is incorrect

4. Statement I is incorrect but Statement IT is correct

Options :

68634066921. 1
68634066922. 2
68634066923. 3
68634066924 4

Question Number : 31 Question Id : 68634016947 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g syTfeunue

DY I YHIcn] Tl @1 fafRry YRUIedr §d & S &1 a8 % o (oY o gRI HSpIRad a1 o]
o

HY 11: T o STALRUT &l I BIes &Hdl Hed o

SIRIF B & e H, - fed 1 fasedl I 9 Hel SR 51 95 HIwg;
1. PYFTI SR HaH Ia 8
2. YT IR LA S

3. PYT I T T, AfpT BYT I SET &

4, BYT I 3G 8, A YT T &

Options :

68634066921. 1
68634066922. 2
68634066923. 3
68634066924. 4

Question Number : 32 Question Id : 68634016948 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following is not a good practice of water management ?

1. Night time irrigation

| ]

. Drip irrigation
3. Building unlined canals
4. Rain water harvesting

Options :

68634066925 1
68634066926. 2
68634066927. 3
68634066928. 4

Question Number : 32 Question Id : 68634016948 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634066925. 1

68634066926. 2

68634066927. 3
68634066928. 4

Question Number : 33 Question Id : 68634016949 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following statements is not true about carbon dioxide ?

L. It 1s one of the green house gasses.

2. Loss of Co, by photosynthesis might have produced the first known Ice Age between 2.2 and 2.4 Ga.
3. The glaciation of Late Ordovician might not have been influenced by the reduction of atmospheric Co,
4. Formation of massive deposits of coal led to cooling of the climate.

Options :

68634066929. 1

68634066930. 2

68634066931. 3
68634066932. 4

Question Number : 33 Question Id : 68634016949 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ha- SIEAHGIEe & §R § &4 91 Fuffad y= 98 98l & 2
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Options :



68634066929. 1
68634066930. 2
68634066931. 3
68634066932. 4

Question Number : 34 Question Id : 68634016950 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following is the most common fuel used in tuel-cells 7

1. Ethanol

| )

. Methanol
3. Hydrogen
4. Natural Gas

Options :

68634066933. 1
68634066934. 2
68634066935. 3
68634066936. 4

Question Number : 34 Question Id : 68634016950 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634066933. 1
68634066934, 2
68634066935. 3
68634066936. 4
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Question Number : 35 Question Id : 68634016951 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements : One 1s labelled as Assertion A and the other 1s labelled as Reason R :
Assertion A : Fuel cells generate lesser harmful emissions.

Reason R : Fuel cells directly convert chemical energy in to electricity.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are true and R is the correct explanation of A

| B

. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R 1s not false

4. A 1s not false but R is true

Options :

68634066937. 1
68634066938. 2
68634066939. 3
68634066940. 4

Question Number : 35 Question Id : 68634016951 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634066937. 1
68634066938. 2
68634066939. 3
68634066940. 4

Question Number : 36 Question Id : 68634016952 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements :

Statement I : Most of the damage during an earthquake is caused by body-waves.

Statement II : Surface-waves have higher amplitude than body-waves. for the same earthquake.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct

[ ]

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement IT is incorrect

4. Statement I is incorrect but Statement IT is correct
Options :
68634066941. 1
68634066942. 2

68634066943. 3
68634066944. 4

Question Number : 36 Question Id : 68634016952 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634066941. 1
68634066942. 2
68634066943. 3
68634066944. 4

Question Number : 37 Question Id : 68634016953 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Alpine orogeny 1s the result of collision between

1. Eurasian and Indian Plates

| B

. North-American and South-American Plates.
3. Eurasian and Arabian Plates

4. Eurasian and African Plates

Options :

68634066945. 1
68634066946. 2
68634066947 3
68634066948. 4

Question Number : 37 Question Id : 68634016953 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634066945. 1
68634066946. 2
68634066947. 3
68634066948. 4

Question Number : 38 Question Id : 68634016954 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Deccan volcanic province in India formed as a result of the movement of Indian Plate over. which one of
the following hotspots ?

1. Caroline hotspot

| ]

. Reunion hotspot
3. St.Helena hotspot
4. Hawaii hotspot

Options :
68634066949. 1



68634066950. 2
68634066951. 3
68634066952. 4

Question Number : 38 Question Id : 68634016954 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634066949. 1
68634066950. 2
68634066951. 3
68634066952. 4

Question Number : 39 Question Id : 68634016955 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Mohorovicic Discontinuity represents
1. Crust-mantle boundary
2. Mantle-core boundary
3. Inner core - outer core boundary
4. Upper mantle - Lower mantle boundary
Options :
68634066953. 1
68634066954. 2

68634066955. 3
68634066956. 4

Question Number : 39 Question Id : 68634016955 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e : TR |
1. hc-Hed dmn
4, SO Hed-Ayg Heq 9iHn
Options :
68634066953. 1
68634066954. 2

68634066955. 3
68634066956. 4
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Question Number : 40 Question Id : 68634016956 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following statements 1s not true about the earth’s mantle ?

1. Its thickness 1s about 2900 km

| )

. It swrrounds the core.
3. It is composed of silicate rocks that also contain abundant iron and magnesium.
4. Mantle’s density decreases with increasing depth.

Options :

68634066957. 1

68634066958. 2

68634066959. 3
68634066960. 4

Question Number : 40 Question Id : 68634016956 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



68634066957. 1
68634066958. 2
68634066959. 3
68634066960. 4

Question Number : 41 Question Id : 68634016957 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : Himalayan Orogen is the result of continental collision.

Reason R : Denser Indian Plate is subducting below the lighter Eurasian Plate.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are true and R is the correct explanation of A

| B

. Both A and R are true but R is NOT the correct explanation of A
3. A 1s true but R is not false
4. A 1s not false but R is true

Options :

68634066961. 1

68634066962. 2

68634066963. 3
68634066964. 4

Question Number : 41 Question Id : 68634016957 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634066961. 1
68634066962. 2
68634066963. 3
68634066964. 4



Question Number : 42 Question Id : 68634016958 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which one of the following is the best guide for taking - up further mineral exploration activities ?
1. Presence of host-rocks
2. Presence of lincaments
3. Presence of shear-zones

4, Presence of ancient - mine

Options :

68634066965. 1
68634066966. 2
68634066967. 3
68634066968. 4

Question Number : 42 Question Id : 68634016958 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
G 49 fepgradl o 3R 31 g & feu FafdiEd & &1 gakoy arfadis 3§ 2
. AU (host) Teh @1 FURUM
S YR (e el) BT Jufdifa
3. TR 1 Jufyfa
4. YT @aH ®f Suredfd

Options :

68634066965. 1
68634066966. 2
68634066967. 3
68634066968. 4

[

| ]

Question Number : 43 Question Id : 68634016959 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following geophysical methods 1s most commonly employed for exploration of o1l and gas ?

1. Gravity method

| )

. Magnetic method
3. Seismic method

4. Radioactive method

Options :

68634066969. 1
68634066970. 2
68634066971. 3
68634066972. 4

Question Number : 43 Question Id : 68634016959 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FrafafEad § 900 w6 19 31 @ & [0 srafte I 3T o ardl yHIfae! g HE-4 5
1. 99cd G
e ughd
P U i
fsamfaed usfa

Options :

68634066969. 1
68634066970. 2
68634066971. 3
68634066972. 4

| ]

L5 ]

F=s

Question Number : 44 Question Id : 68634016960 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
A horizontal tunnel through, which concealed Ore bodies can be accessed is called :
1. A sink
2. A Shaft
3. An Adit

4. A decline

Options :
68634066973. 1



68634066974. 2
68634066975. 3
68634066976. 4

Question Number : 44 Question Id : 68634016960 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U Afas 7 forads A1y ¥ y=s IR S a9 Uga of 9% dl 8. &1 $5d o
1. U@ i

EE
13

Options :

68634066973. 1
68634066974. 2
68634066975. 3
68634066976. 4

Question Number : 45 Question Id : 68634016961 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Acid mine Drainage is associated with :

1. Sulfides

[ ]

. carbonates
3. granites
4, gemstones

Options :

68634066977. 1
68634066978. 2
68634066979. 3
68634066980. 4

Question Number : 45 Question Id : 68634016961 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UfYs wa frspra ey defia &
1. JepTesd
2. HlEHCH
3. I
4. SHETH

Options :

68634066977. 1
68634066978. 2
68634066979. 3
68634066980. 4

Question Number : 46 Question Id : 68634016962 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements :

Statement I : Rocks of the Kaladgi Group rest unconformably upon the peninsular Gneissic complex.
Statement II : Deccan Traps unconformably lie over the rocks of the Kaladgi Group.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4, Statement I is incorrect but Statement II is correct

Options :

68634066981. 1
68634066982. 2
68634066983. 3
68634066984. 4

Question Number : 46 Question Id : 68634016962 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634066981. 1
68634066982. 2

68634066983. 3
68634066984. 4

Question Number : 47 Question Id : 68634016963 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Biostratigraphy I Magnetic polarity
B. Magnetostratigraphic] II. [Relative stratigraphic positions of rocks.
C. |Lithostratigraphy I11. [Differences in mineralogical and chemical
D. |[Chemostratigraphy | IV [Fossiliferous beds.

Choose the correct answer from the options given below:

1. A-IT, B-IIT, C-IV , D-I

| ]

CA-IV . B-1, C-ITL, D-IIT
3.AI.B-III., C-IT, D-IV
4. A-IIT, B-1II. C-IV , D-I

Options :

68634066985. 1
68634066986. 2
68634066987. 3
68634066988. 4

Question Number : 47 Question Id : 68634016963 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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T I T I
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1. A-IT, B-IIT, C-IV , D-I

Olo|#|[»

2.A-IV . B-1.C-IT. D-III
3.A-I.B-IIT. C-IT. D-IV
4. A-IIT . B-II, C-IV . D-1

Options :

68634066985. 1

68634066986. 2

68634066987. 3
68634066988. 4

Question Number : 48 Question Id : 68634016964 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following statements is not true about the Bagh beds ?

1. They are composed of volcanic rocks

[

. They overlie the Archacan gneisses
3. They are of cretaceous age.
4. They consist of unfossiliferous sandstones and fossiliferous limestones.

Options :

68634066989. 1
68634066990. 2
68634066991. 3
68634066992. 4

Question Number : 48 Question Id : 68634016964 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634066989. 1
68634066990. 2
68634066991. 3
68634066992. 4

Question Number : 49 Question Id : 68634016965 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which one of the following is an example for microfossils 7
L. Trilobites
2. Brachiopods
3. Ostracoda
4. Echinoids
Options :
68634066993. 1
68634066994. 2

68634066995. 3
68634066996. 4

Question Number : 49 Question Id : 68634016965 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafad & 9 o 91 @Y shareHl &1 U@ 3aresdl 87
1. CIEqEEey
2, SISy
3. A IDHIST

4. gRHITSH

Options :



68634066993. 1
68634066994. 2
68634066995. 3
68634066996. 4

Question Number : 50 Question Id : 68634016966 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following statements is not true about the Trilobites ?

1. Their abundance peaked during the Upper Cambrian

| )

. They disappeared in the Permian
3. There were exclusively fresh-water species.
4. Their dorsal carapace has tripartite subdivisions.
Options :
68634066997 1
68634066998. 2

68634066999. 3
68634067000. 4

Question Number : 50 Question Id : 68634016966 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ClRaEEed & R § & 91 Hufafad sy 9e T2 g
1. 371 TRl 3R B0 & RIF 9T TR 2|
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Options :

68634066997 1
68634066998. 2
68634066999. 3
68634067000. 4

Question Number : 51 Question Id : 68634016967 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What are chelating agents ?

1. Organic chemicals that bind to metals to produce soluble metallic-organic complexes

| )

. Clumps of soils separating planes of weaknesses such as shrinkage, cracks. roots and burrows.
3. Coneretions of mineral matter
4. Thin layers of altered rocks.

Options :

68634067001. 1
68634067002. 2
68634067003. 3
68634067004. 4

Question Number : 51 Question Id : 68634016967 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
By PHD HT 62
1. FIEHP TG ol [G0T U1g- PEFD BT & G & [0 Gi-oll d oS g

s, (w1
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2

3. @ gl & 31

4. yRafdd Qdl &1 udell u=d

Options :

68634067001. 1
68634067002. 2
68634067003. 3
68634067004. 4

Question Number : 52 Question Id : 68634016968 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In general granular disintegration and spallation of rocks are caused by :

1. Frost cracking

| )

. Compressional tectonic
3. Sheeting joints

4, Thermal stress and strain

Options :
68634067005. 1



68634067006. 2
68634067007. 3
68634067008. 4

Question Number : 52 Question Id : 68634016968 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T Site fodsH 1d Sce Mufiiead $ SRU AT B -
1. U1 H el
 gritsere fadatis
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Options :

68634067005. 1
68634067006. 2
68634067007. 3
68634067008. 4

Question Number : 53 Question Id : 68634016969 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is not correct ?

1. Lammar flows have Reynolds number less than 500

| ]

. Turbulent flows Reynolds number greater than 2000
3. Most of the natural river systems have Reynolds number between 500 and 2000.
4. Reynolds number is the ratio of viscous stresses to turbulent stresses.

Options :

68634067009. 1
68634067010. 2
68634067011. 3
68634067012. 4

Question Number : 53 Question Id : 68634016969 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067009. 1
68634067010. 2
68634067011. 3
68634067012. 4

Question Number : 54 Question Id : 68634016970 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : Symmetrical wave ripples generally do not migrate.

Reason R : The near bed orbital velocities are symmetrical.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

-2

. Both A and R are correct but R is NOT the correct explanation of A
3. A 1s correct but R is not correct

4. A 1s not correct but R 1is correct

Options :

68634067013. 1
68634067014. 2
68634067015. 3
68634067016. 4

Question Number : 54 Question Id : 68634016970 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067013. 1
68634067014. 2
68634067015. 3
68634067016. 4

Question Number : 55 Question Id : 68634016971 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Newtonian fluids there exists relation between the shear stress acting on a parcel of flud and the
shear strain of that flud.

1. exponential

[ ]

. linear
3. non-linear

4. cubic

Options :

68634067017. 1
68634067018. 2
68634067019. 3
68634067020. 4

Question Number : 55 Question Id : 68634016971 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067017. 1
68634067018. 2
68634067019. 3
68634067020. 4

Question Number : 56 Question Id : 68634016972 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

While climbing up valleys. occupied by glaciers, one has to climb up against the wind. What these winds are
called 7

1. Trade winds

2. Katabatic winds
3. Westerly wind

4, monsoonal winds

Options :

68634067021. 1
68634067022. 2
68634067023. 3
68634067024. 4

Question Number : 56 Question Id : 68634016972 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067021. 1

68634067022. 2

68634067023. 3
68634067024. 4
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Question Number : 57 Question Id : 68634016973 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Big Bang theory. the universe formed at billion vears ago.

1117

b2
[
[#¥]

Options :

68634067025. 1
68634067026. 2
68634067027. 3
68634067028. 4

Question Number : 57 Question Id : 68634016973 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634067025. 1



68634067026. 2
68634067027. 3
68634067028. 4

Question Number : 58 Question Id : 68634016974 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the following Statements :

A. The average density of our planet is nearly similar to the density of the common rocks found on the
surface.

B. Mass of the overall Earth 1s so great that the planet must contain metal.

C. Metal in the Earth is concentrated towards its exterior.

D. If the metal in the Earth would have concentrated at its centers, centrifugal force due to the spin of the
Earth on its axis would have pulled the equator out, and planet would have become a disk.

Choose the correct answer from the options given below :

1. A Only
2. B Only
3. C Only
4. D Only

Options :

68634067029. 1

68634067030. 2

68634067031. 3
68634067032. 4

Question Number : 58 Question Id : 68634016974 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067029. 1
68634067030. 2
68634067031. 3
68634067032. 4

Question Number : 59 Question Id : 68634016975 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : The outer core consists of liquid iron alloy.

Reason R : It can exist as liquid because the pressure in the outer core is very high.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are true and R 1s the correct explanation of A
2. Both A and R are true but R 18 NOT the correct explanation of A
3. A is true but R is not false
4. A 1s not false but R is true
Options :
68634067033. 1
68634067034. 2

68634067035. 3
68634067036. 4

Question Number : 59 Question Id : 68634016975 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067033. 1
68634067034. 2
68634067035. 3
68634067036. 4

Question Number : 60 Question Id : 68634016976 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Formation of Moon occurred between

1.4.6-4.3 Ga

| B

.3.6-3.3 Ga
3.43-39@Ga
4.3.0-2.7 Ga

Options :

68634067037. 1
68634067038. 2
68634067039. 3
68634067040. 4

Question Number : 60 Question Id : 68634016976 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4.6-43G0
.3.6-3.3 5010
3.4.3-3.0 5010
4. 3.0-2.7 5110

Options :

68634067037. 1
68634067038. 2
68634067039. 3
68634067040. 4
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Question Number : 61 Question Id : 68634016977 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the following statements. Which of these statements are correct :

A. P and S waves are body waves.

B. Love and Rayleigh waves are body waves.

C. Displacement in P waves are in the direction of propagation.

D. Displacement i shear waves are perpendicular to the direction of propagration.
E. P and S waves are surface waves.

Choose the correct answer from the options given below :

1. Aand C Only

| B

. B and E Only
3.A. Cand D Only
4. B. D and E Only

Options :

68634067041. 1
68634067042. 2
68634067043. 3
68634067044. 4

Question Number : 61 Question Id : 68634016977 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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E. 0 Ud tg 937 gde 93 B
1. A and C Only
2. B and E Only
3.A Cand D Only
4. B. D and E Only

Options :

68634067041. 1
68634067042. 2
68634067043. 3
68634067044. 4

Question Number : 62 Question Id : 68634016978 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is not a volcanic product ?

1. Sinter
2. Doline
3. Lapilhi
4. Aa

Options :

68634067045. 1

68634067046. 2

68634067047. 3
68634067048. 4

Question Number : 62 Question Id : 68634016978 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067045. 1
68634067046. 2
68634067047. 3
68634067048. 4

Question Number : 63 Question Id : 68634016979 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTII
(Timescale on
which it operates)

LISTI
(Tsype of Landform equilibrium)

A |[Dynamic equilibrium L |107 VI8
B. [Steady-state equilibrium I 107 yr
C. |Static equilibriom I {102 vrs
D. [Decay equilibrium IV |10 }"}s

Choose the correct answer from the options given below:

1. A-I.B-IV. C-II. D-III

J

CA-IIT, B-IT, C-IV , D-1
3.A-IIT,B-I.C-IT,D-IV
4 A-IIT,B-IV.C-II.D-1

Options :

68634067049. 1
68634067050. 2
68634067051. 3
68634067052. 4

Question Number : 63 Question Id : 68634016979 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= 1 b1 Y 11 U e i

g 1 = 11
(YT e &1 UhR) [(FHT FAT1 o7 W 8 &1 $3d1 8)

A ﬂﬁ@lﬁﬁ? L [107 yvis

B [E3l&7T deH IL 107 yr

C. [®fd® Tgad 1L {103 vrs

D. &Iﬁﬂﬂﬂq IV. 10 yrs
FafeiRad faeedl § U Ugl 3R &1 999 DI :

1. A-I.B-IV. C-II. D-TII

| ]

CA-IIT, B-IT., C-IV . D-1
3.A-JIIT . B-I.C-II . D-IV
4. AL, B-IV ., C-II, D-1

Options :

68634067049. 1

68634067050. 2

68634067051. 3
68634067052. 4

Question Number : 64 Question Id : 68634016980 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In general. magnitude - frequency curves are

1. right skewed

[

. left skewed
3. symmetrical

4. linear

Options :

68634067053. 1
68634067054. 2
68634067055. 3
68634067056. 4

Question Number : 64 Question Id : 68634016980 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=T Ry - el g gl

4. 3@

Options :

68634067053. 1
68634067054. 2
68634067055. 3
68634067056. 4

Question Number : 65 Question Id : 68634016981 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements :

Statement I : Storm surges are generated by combined effects of low atmospheric pressure and very high
wind speeds.

Statement IT : The largest storm surges are produced when winds are blowing towards coastal embayments
and they are accentuated if they coincide with high tides.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement II is correct

Options :

68634067057. 1
68634067058. 2
68634067059. 3
68634067060. 4

Question Number : 65 Question Id : 68634016981 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



@Y I T He gl (99 argerd aul HOfHd ga= 97 & Qiferd THTal §R1 3 Bl g |

BYA 11 JedH JEHI HelfH 76 I §Idl § S Ua qig ag@iisdl &1 T Udifed 8l & dYT 316 Ugadl Sgdl &
O d 3= SR o Wiy "gfed sidi g

SWRIE HY & 3Meile H, 14 f3u MU [deedi & 4 Tad Iugdd SR &1 99 DI
1. PUTISR NG Ga 8
2. Y1 3R 1 EHT 3gd &

3. BY 190 g, cifd BYT 11 9 &

4 BUTIATT . T FUT I T E

Options :

68634067057. 1
68634067058. 2
68634067059. 3
68634067060. 4

Question Number : 66 Question Id : 68634016982 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements :

Statement I : Disconformity is used for unconformities at which strata were deposited on a basement of older
crystalline rocks.

Statement IT : At a nonconformity. beds of the rock sequence above and below the unconformity are parallel
to one another, but there is a measurable age difference between the two sequences.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I 1s incorrect but Statement II is correct

Options :

68634067061. 1

68634067062. 2

68634067063. 3
68634067064. 4



Question Number : 66 Question Id : 68634016982 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i &l HyF Gu U §;
BY 1- ol TR R beedied Dal R Fafid gid & g8 [vs fa=me @ o erdafa &1 e fosan S g1

HY 11 U ST UR ST o FHUR 7T i< 2el 57 W U GER o HMITR Bl &, o) &l HI o Heg Ag
TR HRY 3R il 21

JWad HY o Ao B, - 75T 70 fasedl § ¥ Tad Iuged 3wk & 90 il

1. YR neHiaa g

2. YR N oH ST T

3. YT I T 5, dichd YT 11 3T &

4. BYT AT 6, dih T YT I T &

Options :

68634067061. 1
68634067062. 2
68634067063. 3
68634067064. 4

Question Number : 67 Question Id : 68634016983 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Type of fold) LIST IT (Description)
A |[Recumbent I. |The hinges are sharp and angular

Crest is broad and flat; two hinges are present, one on either
side of the flat crest.

B.
C. |Overturned IT1. |Axial plane 1s essentially horizontal.
D.

Chevron 10

Axial plane 1s inclined and both limbs dip in same direction,
usually at different angles.

Box Iv.

Choose the correct answer from the options given below:
1. A-IV,B-I1. C-III. D-II
2.A-IIT,B-IV.C-1.D-II
3.A-III, B-I.C-IV.D-II
4. A-IV ,B-I.C-1I, D-III

Options :
68634067065. 1



68634067066. 2
68634067067. 3
68634067068. 4

Question Number : 67 Question Id : 68634016983 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 1 b1 Y 11 U e i

Tl 1 T 11

(@1 F TFR) EERN
A REHE I [Bdie ud ®uiaeid g

=TS [9%dd U3 9900 6.6 [e9 81d &

oI 3N & &H o U - T |
C. [ufdae= I11. |37&ftT aq sifaara: &fas g1
 [orelta qc o BT € SR G YTl

[T e il iR o fen @ B 2
Fafafad fasedl 4 I 98] 3R &1 99+ PIfeTu

1.A-IV.B-1.C-III. D-II

B. RIGIF 1L

2.A-JIT, B-IV . C-1., D-II
3.A-IIT . B-I. C-IV . D-II
4. A-IV . B-1.,C-II..D-III

Options :

68634067065. 1

68634067066. 2

68634067067. 3
68634067068. 4

Question Number : 68 Question Id : 68634016984 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s Klippe ?

1. Where erosion cuts a hole through a thrust sheet exposing the footwall.

| )

. An 1solated remnant of a thrust sheet surrounded by exposures of the footwall.
3. The point on a map or cross section where a fault intersects a pre-existing contact.
4. An area surrounded by hills.

Options :
68634067069. 1



68634067070. 2
68634067071. 3
68634067072. 4

Question Number : 68 Question Id : 68634016984 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
feeTey e 82
1. ST5T 3IRGHA U URe ¥i1e ¥ &g PR Haell §IaR & SF1dHd odl ¢
2. U YT R &1 UbTh! Gy oif (e §lar & sFmadl § feR1 gl g
3. U@ AFTA Sl 39 @I H 4g oe Ue Y= Jaieyd oife R Sedl 6|
4. JeTisdl O R U &

Options :

68634067069. 1
68634067070. 2
68634067071. 3
68634067072. 4

Question Number : 69 Question Id : 68634016985 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : Listric faults have decreasing dip with depth.

Reason R : The fracturing that accompanies fault displacement creates an open space within the fault zone for
fluid to enter. Because of the inecrease i open space. fluid pressure in the fault zone temporarily drops relative
to the surrounding rock.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are true and R is the correct explanation of A

| )

. Both A and R are true but R is NOT the correct explanation of A
3. A 1s true but R is not false

4. A 1s not false but R is true

Options :

68634067073. 1
68634067074. 2
68634067075. 3
68634067076. 4

Question Number : 69 Question Id : 68634016985 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T g1 Y= QU & U 3USYT (Assertion A) d &Y H [AREd B 91 GO 3UD BRI (Assertion R) & &7 -
Py A: RS Y= H Te0s & 91y 93 HH s B

i R: 98 Fae o Y= GRATTE & 1Y §101 8 98 aRa B YT aq YR & H g I &1 i aarg |
Eﬁgﬂﬁqﬁﬁﬁmmm. SIRIUNE 1 Sl 1 Ja1 § SRRl dR IR Y= ®id § avd &1 ga1d dH gl
iG]

SRIed &Y & s 5. = 758 U e § 3 98 I &1 99 ifeg
1. AR RGH Gd & 3R R A [t UEl ura &
2. A 3R R TFI 9§, Ofthd R A $1 Ha! IS 781 &

3. A9 8. AfpIR WT &

4 AMET S, AFTRTTR

Options :

68634067073. 1
68634067074. 2
68634067075. 3
68634067076. 4

Question Number : 70 Question Id : 68634016986 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1I LISTII
(Technique) {(Method)
A |Linear contrast enhancement I |Histogram equalization.
B. [Non-linear contrast enhancement] II. |Adaptive filter
C. |Convolution filter IIT. IMedian filter
D [Statistical filter IV |Saturation stretch

Choose the correct answer from the options given below:
1. A-IV ,B-II. C-III, D-I
2.A-IV.B-I.C-I1.D-III
3.A-III, B-IV.C-II,D-I
4 A-III, B-I.C-II. D-IV
Options :
68634067077. 1

68634067078. 2
68634067079. 3



68634067080. 4

Question Number : 70 Question Id : 68634016986 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 11 g 11 9 e sifo

qa 1 I

qPAID fafy
dig faug 9ig L [eeemm gdaH
IR -3 fqHe gig | 11 [P ftheed
@GR (heex | 1L [ifEH e
GiRsgd! ey v [dgiEE 1

FafaRad fdsedl @ 9 981 3R &1 99+ e :

1. A-IV.,B-1I, C-IIT, D-I

Olo|E]>

| ]

CA-IV . B-I. C-IT. D-III
J.AIN,B-IV.C-II . D-I
4. A-IIT . B-1. C-IT, D-IV

Options :

68634067077. 1
68634067078. 2
68634067079. 3
68634067080. 4

Question Number : 71 Question Id : 68634016987 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Those areas of the electromagnetic spectrum which are not severely influenced by atmmospheric absorption and
are useful to remote sensors are called :

1. Green house zone

| ]

. Atmospheric windows
3. UV zone
4. Atmospheric strimmer

Options :

68634067081. 1
68634067082. 2
68634067083. 3
68634067084. 4



Question Number : 71 Question Id : 68634016987 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fiega g g Wegn & 3 &7 o A sy S § TR & wafad 781 81 § v e Saest &
fere Suaif g1d € 5 HRd g

A BE3Y S

gl S

Options :

68634067081. 1

68634067082. 2

68634067083. 3
68634067084. 4

—

| o]

[ 5]

e

Question Number : 72 Question Id : 68634016988 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

When was Chandrayan-1 launched ?

1. 22 October 2008

| )

.20 April 2009
3. 23 September 2009
4. 12 July 2010

Options :

68634067085. 1
68634067086. 2
68634067087. 3
68634067088. 4

Question Number : 72 Question Id : 68634016988 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ISOH-1 Hd Blal T4 U2

1. 22 3feRIEY. 2008
|20 3{U. 2008
3. 23 RamT. 2009

4. 12 9[@TS. 2010

Options :

68634067085. 1
68634067086. 2
68634067087. 3
68634067088. 4

[ ]

Question Number : 73 Question Id : 68634016989 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements :

Statement I : Bilinear interpolation helps in reducing stair-step effect caused by the nearest - neighbor
resampling.

Statement IT : Cubic convolution helps in reducing stair-step etfect caused by the nearest-neighbor
resampling and image looks smoother then bilinear interpolation.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct

| )

. Both Statement I and Statement II are incorrect
3. Statement I i1s correct but Statement II is incorrect

4, Statement I is incorrect but Statement II is correct

Options :

68634067089. 1
68634067090. 2
68634067091. 3
68634067092. 4

Question Number : 73 Question Id : 68634016989 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TRaPE R E:

e 1. TRET Siqde Hoedd - wiadell T Ufe=a- g’ T 90T (stair - step) THTT B BH B H FEH Bl
Bl
DY 11 91T HaaH Hdedd - Wiqdell 4H: Wiaeg= gR1 Sdd UIu-T1g WHIG i &F H=- 3 Yedl &l & adl

Uit fgvdi sigdeq ¥ seR fems car sl
1. FAIIR IR g E
2. HYAI IR N GHl 3§

3. PUTITA e, i pUT I 3EA §

4, PUT 13T B, AT HYT I 9 &

Options :

68634067089. 1
68634067090. 2
68634067091. 3
68634067092. 4

Question Number : 74 Question Id : 68634016990 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The amount of matrix in a sedimentary rock is between 15% - 75% . will be called as

1. arenite

[

. mudrock
3. wacke

4. arenaceous

Options :

68634067093. 1
68634067094. 2
68634067095. 3
68634067096. 4

Question Number : 74 Question Id : 68634016990 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U% 3ae 9 o Bfeaw O 15 % - 75 % & 0 §, 58 &gl oiu .
1. 3RS

v

 HSD

| S

4. STgBI

Options :

68634067093. 1
68634067094. 2
68634067095. 3
68634067096. 4

Question Number : 75 Question Id : 68634016991 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Proterozoic 1. |Katrol Formation
B. |Carboniferous | II. |Delhi supergroup
C. Purassic I11. [Fenestella shale
D. |Tertiary IV, [Stwaliks

Choose the correct answer from the options given below:

1.A-I.B-III. C-II, D-IV

| B

CA-IT L B-IIT, C-1, D-IV

[ 5]

CA-IT L B-IIT, C-IV , D1
4. A-IV ,B-III. C-1IT, D-I

Options :

68634067097. 1
68634067098. 2
68634067099. 3
68634067100. 4

Question Number : 75 Question Id : 68634016991 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



et 161 g 11 9 e i
A T I

qiRois® | L [@eid HEm
@EFEG | 1[G govgy
SRIY® 111 [t el 2l
EREIEE I EEIRET:

FafeiRad faeedl § O 9el 3t &1 999 Do

1.A-I,B-III. C-IT, D-IV

ofa]w]s

| o]

CA-IT L B-IIT . C-T ., D-IV
A, B-IIT . C-IV . D-I
4. A-IV ,B-IIl. C-II. D-I

Options :

68634067097. 1

68634067098. 2

68634067099. 3
68634067100. 4

Question Number : 76 Question Id : 68634016992 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Sorting and grain orientation within sediment deposit have a strong influence on

1. Porosity

[

. Permeability
3. Hydraulic conductivity
4. Porosity and Permeability

Options :

68634067101. 1
68634067102. 2
68634067103. 3
68634067104. 4

Question Number : 76 Question Id : 68634016992 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hagre Feg d gufieeo gyt oo i &1 TR 7831 YIS Bl &1

1. gedr
2. QIITEdl
3. Oldg 9Taddl
4. IIYdI U4 URITEI

Options :

68634067101. 1

68634067102. 2

68634067103. 3
68634067104. 4

Question Number : 77 Question Id : 68634016993 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following class is both hemimorphic as well as enantiomorphic ?
1. Gyroidal
2. Pedial

3. Spheroidal

4, Pinacoidal

Options :

68634067105. 1
68634067106. 2
68634067107. 3
68634067108. 4

Question Number : 77 Question Id : 68634016993 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FrafeRad | &1 <Hi ebwithe & wry-aiy gHfcamHiiths ol 18
1. TRIgsd
2. ufsga
3. Tplssd
4. UiEsq

Options :



68634067105. 1
68634067106. 2
68634067107. 3
68634067108. 4

Question Number : 78 Question Id : 68634016994 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Give below are two statements :

Statement I : Triclinic system has both centre of symmetry. plane of symmetry and axis of symmetry.

Statement IT : Triclinic system can display centre of symmetry.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement IT is incorrect

4. Statement I is incorrect but Statement IT is correct

Options :

68634067109. 1
68634067110. 2
68634067111. 3
68634067112. 4

Question Number : 78 Question Id : 68634016994 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
il &l By R U &
DY 1. el oF § g ol wailfd. ao o gaiia qaur sie 1 aaEfa A gid B
T2 11: Bar oF YR &1 bs a2l Sadl 8 |
JWRIad Y & HIliw . - 73U 70 fawedl § ¥ 9ed Iuge 3wk & 9g- il
1. B IR TEH 9 §
2. BYT1 AR 1S 3 HA §

3. PUTITA B, dfp dUT 1 3G ©

4. UGS AT HYI I T ©

Options :

68634067109. 1
68634067110. 2
68634067111. 3



68634067112. 4

Question Number : 79 Question Id : 68634016995 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following crystal system has three unequal axes intersecting at oblique angles ?

1. Orthorhombic

| )

. Triclinic
3. Monoclinie
4. Tetragonal

Options :

68634067113. 1
68634067114. 2
68634067115. 3
68634067116. 4

Question Number : 79 Question Id : 68634016995 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frgfeafad foog feea yumett & & s sie fade i B ufass xd & 2
1. YR
fefdate

- HHIfFaH®
4. CERTEA

~
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Options :

68634067113. 1
68634067114. 2
68634067115. 3
68634067116. 4

Question Number : 80 Question Id : 68634016996 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In Hornblende cleavages intersect at angles of

1. 56 and 1249

| ]

.64% and 1167
3. 87% and 103¢

4. 70° and 1209

Options :

68634067117. 1
68634067118. 2
68634067119. 3
68634067120. 4

Question Number : 80 Question Id : 68634016996 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

geis o faga FHIUT R Ufo=seT B @ |

1. 56% Wd 124°

| =]

.64°1d 116°
3.87° U4 103°
4. 70° T4 120°
Options :
68634067117. 1
68634067118. 2

68634067119. 3
68634067120. 4

Question Number : 81 Question Id : 68634016997 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Length of the c-axis in Pyroxene group of nunerals 1s

1.4.8A°

| ]

53A°
3.6.7A°
4.7.3A0

Options :



68634067121. 1
68634067122. 2
68634067123. 3
68634067124. 4

Question Number : 81 Question Id : 68634016997 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TSI THE & |ie 8 It -31e 7 o gl

1.4.810

| =]

53010
3.6.700
4. 7.3

Options :

68634067121. 1
68634067122. 2
68634067123. 3
68634067124. 4

Question Number : 82 Question Id : 68634016998 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Quartz I ALO;
B. |Calcite I |IC
C. |Corundum I11. [CaCO;
D. [Diamond IV. [510;

Choose the correct answer from the options given below:
1. A-II,B-III, C-IV . D-I
2.A-IIT, B-IV,C-I.D-II
J.A-IV ,B-III. C-1, D-II
4. A-I.B-1I.C-IV . D-III
Options :
68634067125. 1
68634067126. 2

68634067127. 3
68634067128. 4



Question Number : 82 Question Id : 68634016998 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 11 Y 11 9 e sifs

T T 1
A [@Ic] L [eud.ap;
B. [badrse 1. [dt
C. [®eRsA I11. [Sfutafi
D. BT IV [0g3ga 2
fFrafaRad faeeal § 3 98l Gor &1 9g7 ifon

1.A-IT. B-III. C-IV . D-I

| o]

CA-IT, B-IV . C-1.D-II
J.AIV ., B-III. C-I, D-II
4. A-1.B-II.C-IV, D-III

Options :

68634067125. 1
68634067126. 2
68634067127. 3
68634067128. 4

Question Number : 83 Question Id : 68634016999 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Quartz group of minerals belong to
1. Tectosilicates
2. Phyllosilicates
3. Nesosilicates
4. Inosilicates
Options :
68634067129. 1
68634067130. 2

68634067131. 3
68634067132. 4

Question Number : 83 Question Id : 68634016999 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



|

Options :

68634067129. 1
68634067130. 2
68634067131. 3
68634067132. 4

Question Number : 84 Question Id : 68634017000 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Anhydrite 1s mainly composed of

1.Ba

| B

. Ca

3. Na

4. Br
Options :
68634067133. 1
68634067134. 2

68634067135. 3
68634067136. 4

Question Number : 84 Question Id : 68634017000 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TTRISSI5C E: Jonfea e
1.§T
2. 4T
3.84¢

4. 91 3R

Options :



68634067133. 1
68634067134. 2
68634067135. 3
68634067136. 4

Question Number : 85 Question Id : 68634017001 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following mineral is commonly absent in intermediate pressure series of metamorphie rocks of
amphibolite facies 7

1. Hornblende
2. Andalusite
3. Staurolite
4. kyanite
Options :
68634067137. 1
68634067138. 2

68634067139. 3
68634067140. 4

Question Number : 85 Question Id : 68634017001 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Al O 9 oF 9 @i geradl garg Y@ 31 draidikd Idl & UEpaiage Jasuial § e
UG Edl & 2

1. gH&is

5

4. $MA-AIRC

Options :

68634067137. 1
68634067138. 2
68634067139. 3
68634067140. 4

Question Number : 86 Question Id : 68634017002 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements :

Statement I : Extensive variables depend on the quantities of material matters.

Statement II : Intensive variables do not depend on the quantities of material matters.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct

[ ]

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement IT is incorrect
4. Statement I is incorrect but Statement IT is correct
Options :
68634067141. 1
68634067142.2

68634067143. 3
68634067144. 4

Question Number : 86 Question Id : 68634017002 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
il &1 By R U &
@Y I fawga =R AfeRad vandl &1 g=ms W AR avd B
HYF 11 76 92 Hiefge gardl o gl i i 98 oid § |
JWRIed Y & HIcliw H, -id 3T 70 fawedi § ¥ 9ad Iuged 3R & 90 Sl
1. B IR IEH 9 8
2. TYF 1 AR I EHT AT E

3. PUT 1 9T ¢, afh T PYT 11 A &

4 BUTIATA . b FUT I G E

Options :

68634067141. 1
68634067142. 2
68634067143. 3
68634067144. 4

Question Number : 87 Question Id : 68634017003 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Elements having strong affinity towards silicates are known as :

1. Siderophiles

J

. Chalcophiles
3. Atmophiles
4. Lithophiles

Options :

68634067145. 1
68634067146. 2
68634067147. 3
68634067148. 4

Question Number : 87 Question Id : 68634017003 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I fora! [ferares § gaep! gi-gdl 8idl 5. 3 9 UHR o 91d © :
1. SIS
AN
 UeHihad
4, feryif s
Options :
68634067145. 1
68634067146. 2

68634067147. 3
68634067148. 4

| S}

LN}

Question Number : 88 Question Id : 68634017004 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is the weakest chemical bonding ?

1. Ionic bond

| B

. covalent bond
3. metallic bond

4, Vander waals bond

Options :
68634067149. 1



68634067150. 2
68634067151. 3
68634067152. 4

Question Number : 88 Question Id : 68634017004 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FafRad 8 ®F 91 968 SHOR J9E-e g8 5
1. ST HTEY
. g HaISP ey
YT 1Y

| S

L]

4, G aTay HTEE

Options :

68634067149. 1
68634067150. 2
68634067151. 3
68634067152. 4

Question Number : 89 Question Id : 68634017005 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Average thickness of lithosphere under ocean basins ranges between

1.70 to 80 KM

[ ]

. 100 to 150 KM
3. 410 to 660 KM

4, 660 to 880 KM

Options :

68634067153. 1
68634067154. 2
68634067155. 3
68634067156. 4

Question Number : 89 Question Id : 68634017005 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el S & AT TSy (b sfRa dlels. S A G
1. 70 ¥ 80 fordit

.100 ¥ 150 ol

410 9 660 feprt

4. 660 ¥ 880 bl

Options :

68634067153. 1
68634067154. 2
68634067155. 3
68634067156. 4

| S

L]

Question Number : 90 Question Id : 68634017006 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is diagnostic mineral of granulite facies rocks ?

1. Enstatite

| ]

. Chlorite
3. Chloritoid

4, Staurolite

Options :

68634067157. 1
68634067158. 2
68634067159. 3
68634067160. 4

Question Number : 90 Question Id : 68634017006 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FafeiEad & ¥ oH darge Yol o1 shuiies |- g
1. U,'_'R%EIES

3. daliReizs
4. FHwge

Options :



68634067157. 1
68634067158. 2
68634067159. 3
68634067160. 4

Question Number : 91 Question Id : 68634017007 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements :

Statement I : A metamorphic rock comprises of grains/crystals with well developed faces said to exhibits
idioblastic texture.

Statement II : A metamorphic rock comprises of grains/crystals without any definite shape is said to exhibit
xenoblastic texture.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect

4, Statement I is incorrect but Statement II is correct

Options :

68634067161. 1
68634067162. 2
68634067163. 3
68634067164. 4

Question Number : 91 Question Id : 68634017007 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
EIERAR A/ A S
DY I: Ua didied 2 off sl fepeedl 4§ Afid & 98 Yfasiid Gas! & Uy W] 13 S2idl dedldl 6 |
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1. Y ISR I aH 9d 8
2. PYT 1 AR I TH 3T §

3. YT 19U ¢, aifhd HYUT 1 39 &

4. TGS AT HYT I T §

Options :



68634067161. 1
68634067162. 2
68634067163. 3
68634067164. 4

Question Number : 92 Question Id : 68634017008 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Volecanic equivalent of Granite is

1. Rhyolite

-2

. Dacite

3. Trachyte
4. Basalt

Options :

68634067165. 1
68634067166. 2
68634067167. 3
68634067168. 4

Question Number : 92 Question Id : 68634017008 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
JTSe BT SATATHd JHGE 1 22
1. JAAEe
ESESIETd
G

4, 9T

Options :

68634067165. 1
68634067166. 2
68634067167. 3
68634067168. 4

| ]

L 5]

Question Number : 93 Question Id : 68634017009 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The average density of the lithosphere 1s :

1. 500 kg m™

| ]

2750 kgm™
3.4650 kg m™
4.5570 kg m™

Options :

68634067169. 1
68634067170. 2
68634067171. 3
68634067172. 4

Question Number : 93 Question Id : 68634017009 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RTHST P 39d 994 87
1. 500 ol UH 3
. 2750 Pail g3

-

3. 4650 il Ug3
4. 5570 Poil TH3

Options :

68634067169. 1
68634067170. 2
68634067171. 3
68634067172. 4

Question Number : 94 Question Id : 68634017010 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements :

Statement I : Entire zone / area of recrystallized country rock around an igneous intrusive body is termed as
"contact aurcole”

Statement II : These spotted fine grained recrystallized rocks are called mylonites.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4, Statement I is incorrect but Statement II is correct
Options :
68634067173. 1
68634067174. 2

68634067175. 3
68634067176. 4

Question Number : 94 Question Id : 68634017010 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

J g ey Ruu E:

gaﬁ[;w&ﬂﬁﬁﬁ&nﬁuﬁg%ﬁmﬁaﬁwﬁ%@a?ﬁq&W%me&sﬂﬁmmﬁﬁ
|

@Y 11U YedeR HeH Sl arcll G4 e diigd Ud AaHged deardl ol
JWIad Y & Hlelld B, i 75T 70 fasmedl § ¥ Tad Iugead 3wk &l 90 il
1. DY 3R 1CH §9 8
2. TR 1EH 3T §

3. FUT 19 ¢, Ui HYUT 11 39 &
4 PUIITI . b PUT I G &

Options :

68634067173. 1
68634067174. 2
68634067175. 3
68634067176. 4

Question Number : 95 Question Id : 68634017011 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A [Pyrite IL P65
B. |Galena II. [FeS;
C. |Sphalerite I [CuFeS;
D. [Chalcopyrite |IV |Zne

Choose the correct answer from the options given below:

1.A-I.B-II.C-IIT, D-IV

| ]

CA-IT . B-I. C-IV , D-III
3.A-IIL.B-IV.C-II.. D-I
4. A-IV ,B-III.. C-1. D-II

Options :

68634067177. 1
68634067178. 2
68634067179. 3
68634067180. 4

Question Number : 95 Question Id : 68634017011 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 101 At 11 ¥ e Sifoy
T I T I

A [IERIEe I [di&i oy

B. [T I [Thsud -
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1.A-I,B-II.C-III, D-IV

| o]

CA-IT L B-I. C-IV ., D-III
3.A-II,B-IV.C-II.D-I
4. A-IV .B-III. C-I. D-II

Options :

68634067177. 1
68634067178. 2
68634067179. 3
68634067180. 4



Question Number : 96 Question Id : 68634017012 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Syngenetic deposits are those formed

1. Before the erystallization of host rocks

| )

. After the crystallization of host rocks
3. Simultaneous with the host rocks

4, Earlier to the host rocks.

Options :

68634067181. 1
68634067182. 2
68634067183. 3
68634067184. 4

Question Number : 96 Question Id : 68634017012 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gold &Y d §id ol §7d &
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Options :

68634067181. 1
68634067182. 2
68634067183. 3
68634067184. 4

Question Number : 97 Question Id : 68634017013 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following 1s a good reservoir rock ?
1. Granite
2. Sand stone
3. Shale

4. Schist

Options :

68634067185. 1
68634067186. 2
68634067187. 3
68634067188. 4

Question Number : 97 Question Id : 68634017013 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafed 3 9o 9 o=t YUSR 9 &2
1. ‘EI:!FQE

T 9RR
2

4. 19

Options :

68634067185. 1
68634067186. 2
68634067187. 3
68634067188. 4

| ]

L ¥ ]

Question Number : 98 Question Id : 68634017014 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The Great Boundary Fault lies between
1. Siwaliks and the Murree group of rocks.
2. Upper Vindhyans and Aravallies

3. Upper Vindhyans and Kurnools

4. Siwaliks and Subathus

Options :
68634067189. 1



68634067190. 2
68634067191. 3
68634067192. 4

Question Number : 98 Question Id : 68634017014 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067189. 1
68634067190. 2
68634067191. 3
68634067192. 4

Question Number : 99 Question Id : 68634017015 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Trilobites are the index fossil of
1. Cambrian period
2. Archean Period
3. Proterozoic Period
4. Ordovician Period

Options :

68634067193. 1
68634067194. 2
68634067195. 3
68634067196. 4

Question Number : 99 Question Id : 68634017015 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



cRAEEcd D gadid olaRE gl
1. Pfeg 3raf
2. 3fdha 3rafy
3. HIeIelsd Hafs
4. freifafig=
Options :
68634067193. 1
68634067194. 2

68634067195. 3
68634067196. 4

Question Number : 100 Question Id : 68634017016 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The fauna which have free - swimming life style are called
1. Nektonic
2. Planktonic
3. Benthic
4. Pelagic
Options :
68634067197. 1
68634067198. 2

68634067199. 3
68634067200. 4

Question Number : 100 Question Id : 68634017016 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SHa-Siq foa! gad-d3 fs oita el 8. HEA gl
1. Aei-D

3. dfFE
4. Gaifore

Options :



68634067197. 1
68634067198. 2
68634067199. 3
68634067200. 4



